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SAMPLE TEST OF ENGLISH FOR BACHELOR - DEGREE APPLICANTS
OF ADULT UNDERGRADUATE PROGRAM IN SHANXI PROVINCE
(1)

Part I Vocabulary and Structure (20 minutes)

Directions: There are 30 incomplete sentences in this part. For each sentence there are four choices -
marked A, B, C and D. Choose the ONE answer that best completes the sentence.
Then mark the corresponding letter on the Answer Sheet with a single line through the

centre.
1. Don’t bother me. Do what you . Idon’t care.
A. will C. would
B. will like D. would like

2. Mr. Jones is supposed for Italy last week.

A. having left C. to leave
B. to have left D. to be leaving
3. IwishI longer this Sunday morning, but I had to get up and come to work.
A. slept C. could sleep
B. might sleep D. had slept

4. Last year Mike eamed his brother.

A. twice as more C. more twice than

B. twice as much as D. twice as many as
5. Isn’t it about time you to do moming exercise?

A. began C. should begin

B. begin D. have begun

6. So badly in the accident that he had to be operated on.



A. did John injure C. John was injured

B. John injured D. was John injured
7. from the top of the hill, the lake scenery is beyond description.
A. To see C. Having seen
B. Seeing D. Seen
8. I am rather uncertain whether I’ ve made the right decision.
A. asto C. on
B. to D. for

9. The enemy had no way out but .
A. surrender C. to be surrendered

B. surrendering D. to surrender

10. I like black coffee so much because the stronger it is,
A. 1 like it better C. the better I like it
B. the more I like D. I like it more

11. Have you seen Henry lately? My boss wants to know :
A. how is he getting along C. what is he getting along

B. how he is getting along D. what he is getting along

12. T know this is the right train. The ticket agent said it would be on :

A. Track Two C. Second Track
B. the Track Second D. the Two Track
13. Jane has brown hair in fact. It’s quite similar in shade yours.
A. as C. like
B. with D. to
14. Since they are moving to a new house, they have to buy furniture .
A. many C. alot of
B. quite a few D. a few

15. He was not supposed to play with us until the manager recommended that he  a member of
this club.
A. be C. is
. 2 B



B. was D. were

who would like to go on the trip should put their names on the list.

A. Those C. Somebody
B. These D. The ones
. The only thing is that you consult your lawyer about it.
A. which I can suggest C. that I can suggest
B. which can suggest D. that can suggest
. She must know what’s happening, a complete idiot.
A. so is she C. and she is
B. or she is D. nor is she
. Some college students support themselves by of part — time jobs.
A. efforts C. means
B. methods D. ways
. This year summer time came into on the 12th of April.
A. use C. effect
B. efficiency D. practice
. Thomas Edison his success as an inventor to 10% inspiration and 90% perspiration.
A. devoted C. executed
B. instituted D. attributed
. You will probably your team’ s chance to win because you seem to have such a great
them.
A. affect . . . influence on C. affect . . . effect
B. effect . . . influence on D. effect . . . affect on

. Try some of this cake, which I especially for you.

A. boiled ' C. fried
B. baked D. bumed
. Scientific satellites scientific instruments which can gather various information about
space.
A. bring C. take



27.

29.

30.

B. carry D. fetch

. Her type of woman can life much more easily.
A. cope with C. take care of
B. take advantage of D. look after
. Hurricanes from the Gulf of Mexico have caused considerable to coastal cities in Texas.
A. hamm C. damage
B. injury D. spoilage
The woman had lost her own son, and her brother persuaded her to a baby whose mother _
had died.
A. adopt C. undertake
B. adapt D. choose
They went out to Australia gold.
A. for search of C. on search of
B. in search of D. in search for
George has no excuse dropping out of school.
A. for C. in
B. at D. of
Meat, milk, fruit, and starches a balanced diet.
A. consist of C. make up of
B. constitute D. maintain

Part II Reading Comprehension (35 minutes)

Directions: There are 4 passages in this part. Each passage is followed by some questions or

unfinished statements. For each of them there are four choices marked A, B, C and D.
You should decide on the best choice and mark the corresponding letter on the Answer
Sheet with a single line through the centre.

Questions 31 to 35 are based on the following passage :

Medical bills in the United States have risen violently since 1960’ s and steps need to be taken

to reverse this trend or the average American will not be able to afford medical care. The major

factor in increasing the cost of medical care has been the dramatic increase in the cost of hospital

« 4 -



services. The rise in the cost of hospitalization can be only partly blamed on inflation (i 5 i K )
since hospital bills in the last two decades have risen at a considerably higher rate than inflation.

Another factor cited by doctors as a major cause for the increase in the cost of medical care is
malpractice(JR¥T451% ) . Increasingly large awards for malpractice have caused doctors to increase
their rates to cover the higher malpractice insurance. Because of the large malpractice awards,
doctors are also prescribing more conservative and more extensive — and therefore more costly —
treatment for patients as a defense against malpractice claims. Whatever the causes of the wild
increases in the cost of medical care are, the government needs to take strong action before it fis oo
late for Americans.

31. The passage is mainly about .
A. the increasing cost of malpractice insurance
B. factors causing the increase in U. S. medical bills
C. steps for Americans to take to obtain medical care
D. the dramatic medical profession

32. The passage implies that a slowing in inflation would have _ effect on medical costs.
A. a tremendous
B. a slight
C. a maximum

D. no

33. How does the author of this passage feel about the tremendous increase in medical bills?
A. Enthusiastic.
B. Impassive.
C. Indifferent.
D. Anxious.

34. What is the author’s main point in the passage?
A. Inflation is having a terrible effect on medical bills.
B. Insurance companies are at fault in raising medical bills.
C. Action is needed to stop increase in medical bills.
D. Doctors need to work to decrease malpractice.

35. What does the following paragraph of this passage most likely contain?
A. A discussion of why average Americans will soon be unable to afford medical care.
B. Forecasts of how inflation will affect medical care in the future.

C. The tremendous increase in malpractice insurance.



D. The steps the government could take to control medical costs.

Questions 36 to 40 are based on the following passage :

A child of five is friendly, competent and obedient, although he may be bossy with other
children and is sometimes sufficiently independent to call his mother names. He is still dependent
on adult approval and praise, and so oriented (X7 --+/B&%#¥ ) to the grown — up that he tells tales
without seeing the other child’ s point of view. There is no real discussion yet — fives talking
together indulge in a “collective monologue(## H )" . Group play is often disrupted because everyone
wants to be the mother or the bride or the captain of the fire brigade({HB/5BA). Each child has an
adult in spite of all his efforts to be independent. In his unsureness he may make statements about
his own cleverness and beauty, hoping that the adult will praise him: this is not conceit but a cry for
reassurance. He loves to say “Watch what I can do. ” Reality and fantasy are still intermingled (&
4) and this confusion may lead him to elaborate on facts.

36. It is implied in the passage that a competent child .
A. does what he is told
B. plays with other children
C. can perform certain task
D. tells other children what to do

37. A five — year — old child sometimes shows his independence by .
A. making friends
B. calling his mother names
C. seeking adult approval and praise
D. being bossy with other children

38. The passage points out that when everyone wants to be the mother or the bride, group play is
often
A. broken up
B. spoiled
C. interrupted
D. halted for a moment

39. Which of the following is not conceit but a cry for reassurance?
A. An urgent need for contact with adults.
. A child’s efforts to be independent.

B

C. A child’s unsureness.

D. A child’s making statements about his own cleverness.
6



40. The last sentence of the passage tells us that the five — year — old child .
A. likes to recite facts
B. tells lies
C. gets very confused
D. sometimes mixes up what is real with what is unreal

Questions 41 to 45 are based on the following passage :

Perhaps the most startling theory to come out of the study of body movement was suggested by
Professor Ray Birdwhistell. He believes that physical appearance is often culturally programmed. In
other words, we learn our looks — we are not born with them. A baby has generally unformed
(KRIEMK) facial features. A baby, according to Birdwhistell, learns where to set the eyebrows by
looking at those around — family and friends. This helps explain why the people of some regions
of the United States look so much alike. New Englanders or Southemers have certain common facial
characteristics that cannot be explained by genetics(i#1%%%) . The exact shape of the mouth is not
set at birth; it is learned after. In fact, the final mouth shape is not formed until well after
permanent teeth are set. For many, this can be well into youth. A husband and wife together for a
long time often come to look somewhat alike. We learn our looks from those around us. This is
perhaps why in a single country there are areas where people smile more than those in other areas.
In the United States, for example, the South is the part of the country where the people smile most
frequently. In New England they smile less, and in the western part of New York state still less.
Many Southemers find cities such as New York cold and unfriendly, partly because people on
Madison Avenue smile less than people on Peachtree Street in Atlanta, Georgia. People in densely
populated urban areas also tend to smile and greet each other in public less than do people in rural

areas and small towns.

41. Ray Birdwhistell believes that physical appearance .
A. is ever changing
B. can be influenced by culture
C. has little to do with culture

D. varies from place to place

42. According to the passage, the final mouth shape is formed .
A. shortly after birth
B. as soon as one’s teeth are permanently set
C. sometime after permanent teeth are set
D.

around 15 years old



43. Ray Birdwhistell can tell what region of the United States a person is from by .
A. how much he or she laughs
B. how he or she raises his or her eyebrows
C. what he or she likes best
D. the way he or she talks

44. According to the passage, which kind of people are more friendly?
A. People in densely populated areas. A

People in the country.

People in New York city.

. People in the North.

Sow

-

is passage might have been taken out of a book dealing with .
. physics

medicine

biology

none of the above

oowp

Questions 46 to 50 are based on the following passage :

Trees should only be pruned(#£BY ) when there is a good and clear reason for doing so and,
fortunately, the number of such‘ reasons is small. Pruning involves the cutting away of overgrown and
unwanted branches, and the inexperienced gardener can be encouraged by the thought that more
damage results from doing it unnecessarily than from leaving the tree to grow in its own way.

First, pruning may be done to make sure that trees have a desired shape or size. The objects
may be to get a tree of the right height, and at the same time to help the growth of small side
branches which will thicken its appearance or give it a special shape. Secondly, pruning may be
done to make the tree healthier. You may cut out diseased or dead wood, or branches that are
rubbing against each other and thus causing wounds. The health of a tree may be encouraged by
removing branches that are blocking up the center and so preventing the free movement of air.

One result of pruning is that an open wound is left on the tree and this provides an easy entry
for disease, but it is a wound that will heal. Often there is a race between the healing and the
disease as to whether the tree will live or die, so that there is a period when the tree is at risk. It
should be the aim of every gardener to reduce that risk of death as far as possible. It is essential to
make the area which has been pruned smooth and clean, for healing will be slowed down by
roughness. You should allow the cut surface to dry for a few hours and then paint it with one of the
substances available from garden shops produced especially for this purpose. Pruning is usually done
in winter, for then you can see the shape of the tree clearly without interference from the leaves and
it is, too, very unlikely that the cuts you make will bleed. If this does happen, it is, of course,
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impossible to paint them properly.

46. Pruning should be done to .
A. make the tree grow taller
B. improve the shape of the tree
C. get rid of the small branches
D. make the small branches thicker

47. Trees become unhealthy if the gardener .
A. allows too many branches to grow in the middle
B. does not protect them from the wind
C. forces them to grow too quickly
D. damages some of the small side branches

48. A special substance is painted on the tree .
A. to make a wound smooth
B. to prevent disease from entering a wound
C. to cover a rough surface
D.

to help a wound to dry

49. A good gardener prunes a tree .
A. at intervals throughout the year
B. once or twice a year
C. only when necessary
D. regularly every winter

50. What was the author’s purpose in writing this passage?
A. To give practical instructions for pruning a tree.
B. To give a general description of pruning.

C. To discuss the various reasons for pruning.

D.

To discuss the different times of pruning.
Part III Cloze (15 minutes)

Directions: There are 20 blanks in the following passage. For each blank there are four choices
marked A, B, C and D following each paragraph. You should choose the ONE that best
fits into the passage. Then mark the corresponding letter on the Answer Sheet with a
single line through the centre.



Britain was a wealthy country a hundred and fifty years ago. There were a _ (51)  very rich
people who  (52)  money from land or investments, and did not need to work. They used to
have large  (53) of servants to look after them. There were also many middle class people,

(54)  worked as businessmen or as doctor or lawyers. They usually had several servants to clean
their houses and _ (55) their meals.

51. A. litile B. much C. few D. many
52. A. took B. accepted C. received D. brought
53. A. amount B. numbers C. deals D. plenties
54. A. who B. which C. that D. whom
55. A. cook B. have C. do D. enjoy

But there were also many poor people, and there was a big _ (56) between the rich and the
poor. The poor had very difficult lives. Many worked as servants. They used to be _ (57) little,
and they had to work long hours. But at least they lived in a warm house and were well _ (58) .

56. A. space B. room C. gap D. way
57. A. eamed B. received C. accepted D. paid
58. A. eaten B. fed C. felt D. lived

(59)  who worked in factories were often less  (60) . They used to work many hours a
day, in dangerous and unhealthy conditions. But, even so, they did not use to earn enough to
(61) their families. They often lived in _ (62)  which were built cheaply by the factory

owners.

59. A. These B. Those C. This D. That
60. A. fortunate B. favorable C. favorite D. financial
61. A. apply B. provide C. feed D. supply
62. A. lodges B. slums C. halls D. inns

The worst paid people were those who worked  (63)  the farms. At certain times of the
year, they did not use to eam  (64)  because there was no work for them to do.

63. A. in B. on C. with D. from

64. A. any matter B. any materials C. nothing D. anything

Life  (65) the poor was not always bad. There were kind farmers and factory owners who
helped their workers. And many people were  (66)  about the poor. One of them was Charles
Dickens, the famous Brilish writer. When he was young, his family was always  (67)  of
money. His father was a clerk, who used to spend more  (68)  he eamed. When Dickens was
eleven, his father was sent to  (69) ; and Dickens had to work in a factory.  (70)  this

. 10 .



